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QUESTION 1

With a Cisco IE 2000 switch, what does a port status LED indicate when it is alternating green and amber? 

A. The port is sending or receiving data. 

B. A link is present. 

C. No link is present. 

D. There is a link fault. 

E. The port is not forwarding. 

Correct Answer: D 

 

QUESTION 2

Which option best describes a mechanical, ingress, climatic, chemical and electromagnetic environment that is
classified as M3 I3 C3 E3? 

A. the highest quality 

B. office environment 

C. severe 

D. serviced by multiple cable segments 

Correct Answer: C 

 

QUESTION 3

Which three pieces of information must be maintained for all stakeholders as part of the change management process?
(Choose three.) 

A. the location of the person who applied the change 

B. the date and time that the change was applied and on which device 

C. the original change request form that indicates why the change is necessary 

D. the size of the change (in bytes) 

E. a description of the actual change itself (configuration, program code, and so on) 

F. the names of the current members of the change advisory board 

G. the industrial protocol that is used 

Correct Answer: BCE 
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QUESTION 4

Which of the following correctly pairs the dotted decimal subnet mask with the correct number of binary bits that
represent the subnet mask? 

A. 255.255.255.192 and /25 

B. 255.255.255.248 and /28 

C. 255.255.255.224 and /26 

D. 255.255.255.248 and /27 

E. 255.255.255.240 and /28 

F. 255.255.255.240 and /16 

Correct Answer: E 

 

QUESTION 5

What is the purpose of Spanning Tree Protocol? 

A. to prevent routing loops 

B. to create a default route 

C. to provide multiple gateways for hosts 

D. to maintain a loop-free Layer 2 network topology 

E. to enhance the functions of SNMP 

Correct Answer: D 
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